CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne ApTUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-s0
1 12140-Z040610-0000 | Fonoska uMAMHApPA 1 7 12003-2010110-0000 | Bont 4
2 90204-2010310-0000 | WnunbKka ganHHas 2 8 12004-7440110-0000 MpoKnaaKa KpbILWKK 1
3 90502-1014-00 LWtnoT 10x14 2 9 12410-2440110-0099 KpbiwWwKa KnanaHos 1
4 12131-2040110-0000 | NMpoKnazka ronoBku 1 10 | 90001-0612-01 bont M6x12 2
5 90203-2010110-0000 | WnnnbKa KopoTKan 2 11 | 17004-2010310-0000 LLnaHr canyHa 1
6 F7RTC Cseya 3aXkuraHusa 1 12




CrHamMpPIoN
Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne Ne K-Bo
ApTUKyn HanmeHoBaHue K-Bo ApTUKYN HanmeHoBaHue
1 11310-2040510-0000 Kaptep 1 7 90501-2010110-0000 WnavuT 1
2 90682-7300110-0000 CanbHUK KoNleHBana 1 8 16400-2010110-0000 LleHTpobexHbli perynatop 1
41,25x25x6 06opoToB
3 90408-2010110-0000 LWaiba 2 9 90548-0205-CL MogwunnHuk Konensana 6205 1
4 11007-2010110-0000 bonTt gna chvea macna 2 10 | 90305-2010210-01 lalika 1
5 16061-2010110-0000 Ocb perynatopa o6opoTos 1 11 | 37060-2010120-0000 [aTumK ypoBHA macna 1
6 90408-2010210-0000 Lanba 1 12 | 90001-0614-01 bont M6x14 2




CrHamMpPIoN
Power & force

MJ'IHIOCTpVIpOBaHHbIl‘;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HavmeHoBaHue K-80

1 11411-72010410-0000 KpblwKa KapTepa 1 5 90001-0832-01 bont 6

2 | 90548-0205-CL MoAwnnHUK KoneHsana 1 6 15010-2010120-Q500 | Ulyn macnaHbin 1
6205

3 | 90682-7300110-0000 CanbHuk 41,25x25x6 1 7 11001-2010120-0000 | MpoknagKa KpbIWKK KapTepa 1

4 | 15030-Z010120-Q500 Mpo6ka macnaHow 1 8 | 90502-0812-00 WrndT 8x12 2

FTOPNOBUHDI




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

: G201HK

N2 ApTUKYn HavmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-s0

1 13200-2300110-0000 | Kosbuo nopuwiHesoe 68 mm 1 4 | 13010-Z360110-0000 | LLaTy 1
KOMMNNEKT

2 13122-7010110-0000 Konbuo ctonopHoe nanbua 2 5 13121-7010110-0000 | Maney nopLHA 1

3 13111-7300110-0000 MNopweHb 68 Mm 1 6 13300-2300810-0000 | KoneHBan 1




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

/:©

14

5
‘4 3 |
&
B e ¢
Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKRYN HanmeHoBaHue K-s0
1 14200-Z2300210-0000 | Pacnpeagan 1 8 14312-7010110-0000 KoHTpraiika 2
2 14081-Z040110-0000 | Tapenka TonkaTens 2 9 12104-2010110-0000 Konnauek knanaHa 1
3 14071-2010110-0000 | Tonkatenb KnanaHa 2 10 | 12107-Z010110-0000 Cyxapb BbINMYCKHOrO KianaHa 1
4 14090-2010110-0000 | Hanpasnstowas TonKatenemn 1 11 | 12112-7010110-0000 Cyxapb BNYCKHOro KaanaHa 1
5 14313-2010110-0000 LLInnnbka Kopombicna 2 12 | 12103-2010110-0000 MpyK1Ha KnanaHa 2
6 14311-72010110-0000 | Kopombicno KnanaHa 2 13 | 12101-Z010110-0000 Konnauyek macnocbemHbiii 1
7 14314-7010110-0000 | larika 2 14 | 12110-Z010110-0000 KnanaHa komnnekr 1




CrHamMpPIoN
Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne ApPTUKYN HavmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-so
1 28200-2300110-0000 | Craptep B cbope 1 7 37050-2010210-0000 [aTunk ypoBHA macna 1
2 90001-0608-01 Bont M6x8 3 8 | 90001-0616-01 Bont M6x16 1
3 90001-0612-01 Bont M6x12 4 9 90740-2010110-0000 3arnyLwKa Koxyxa 1
4 35540-Z060120-QG00 | BbikntovaTenb 3akuraHma 1 10 | 19340-Z2010120-0000 MnacTnHa 3awmTHaA 1
5 28110-Z010410-YHOO | Koxxyx maxoBuKa 1 11 | 19304-zZ010410-0000 Koxyx umnuHgpa 1
6 90001-0610-01 Bont M6x10 3 12




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne ApTUKYn HavmeHoBaHue K-Bo Ne ApTUKYn HavmeHoBaHue K-80
1 17001-7010210-0000 | Mpoknaska noA kopnyc 1 4 16003-2010110-0000 | Tennowusonatop 1
dunbTpa
2 16100-Z040610-0000 | Kap6iopatop 1 5 16002-2010110-0000 Mpoknaaka nog 1
TEeNnJIoU30NATOp
3 16001-2010110-0000 MNpoknaaka nog KapbtopaTop 1 6




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne ApTUKyAN HanmeHoBaHue K-sBo Ne ApPTUKYN HaumeHoBaHue K-so
1 13510-2010110-0000 MaxosuK 1 4 19352-7010310-0000 | KpblabyaTka maxoBuKa 1
2 30400-Z300110-0000 | MarHeTto 1 5 28002-Z300110-0000 | CrakaH maxoBuKa 1
3 90001-0625-01 Bont M6x25 2 6 13501-Z010110-0000 | laika maxoBuKa 1




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne Ne K-Bo
ApPTUKYN HanmeHoBaHue K-Bo ApTUKYN HavmeHoBaHue

1 | 17100-2010210-0000 | Kopnyc ¢punbTpa KOMNAEKT 1 3 90305-0600-31 laka M6 1

2 | 17150-2010110-0000 | ®uabTp BO3AYLIHDIN 1




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne K-Bo
ApTUKYN HanmeHoBaHue K-Bo ApTUKyn HanmeHoBaHue
1 16730-2010820-0300 | KpbiwKa TonamsHoro 6aka 1 7 90686-2010710-0000 | LUnaHr TONAUBHbIN 1
2 | 16652-2010610-0000 | ®unbTp ceTyaTbi baKa 1 8 90740-2010210-0000 | XomyT wnaHra 2
3 16620-2440120-H600 | Bak TonAuBHbIN 1 9 18100-2010710-H300 | rnywurennb 1
4 | 90001-0630-01 Bont M6X30 1 10 | 90303-0800-31 laiika M8 2
5 | 16680-2010110-0000 | LUTyuep TonaueHoro 6aka c 1 11 | 18001-Z010110-0000 | Mpoknaaka raywmntens 1
TONAMBHBIM GUNBTPOM
6 | 90305-0600-31 Favika M6 2 12




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: G201HK

Ne ApTuKyn HavmeHoBaHue K-Bo Ne ApTUKYn HavmeHoBaHue K-80
1 16520-Z010230-0000 | Pbluar peryampoBKku o6opoToB 1 5 16070-2010110-0000 | Pbivar perynaTtopa 1
2 16063-2010110-0000 | Mpy»u1Ha pblyara perynatopa 1 6 90305-0600-31 lalika M6 1
3 16062-2010110-0000 | Tara perynatopa 1 7 16072-2010110-0000 | bonTt 1
4 | 16012-Z010110-0000 | MpyuKHa TArK 1 8 | 90001-0610-01 Bont M6x10 2




